8 B H B =EBEIMR)

(1) HELE RERBS)

4 3 FE E 4 o4 FE

X 9 Bl | & % | e | makie(%) | Bl | & % | JEsE | k(%)

| & | T e #E]l FD) | &) | (FF) |6 %M e

i | 50cc LA F |2,000 | 3,210 | 6,420 7.6 2.0]2,000 | 3,131 | 6,262 | 7.4| 1.9

£+ [50cc # 90ce LA F]2,000 | 212 4241 0.5 0.1]2,000] 210 420 | 05| 0.1

H |90cc#125¢cc Ll F|2,400 | 793 | 1,903 1.9] 0.6]2,400 | 848] 2,035| 2.0 0.6

Bl 2 = — [3700 65 241 0.2] 0.1]3,700 77 285 0.2 0.1

# N F — 14,280 8,988 10.2| 2.8 — | 4,266 | 9,002 | 10.1]| 2.7

= W 3,600 | 1,111 | 4,000 2.6| 1.3]3,600| 1,146 | 4,126 | 2.7| 1.3

i B ;{E 4 18 0.0] 0.0 *% 4 18| 0.0| 0.0

g VY i 3k H = 26 g 5 34 0.0] 0.0 g 5 34 0.0| 0.0

VY i 3 H B % ?i 26,581 |251,873 | 63.2 | 80.1 ?i 26,772 263,703 | 63.1 | 80.5

» IY i 65 4 E 2E %f 232 836 | 0.5] 0.3 g 232 848 0.5 0.3

& (M EY B ZE M féf 7,018 [ 35,096 | 16.7 | 11.2 ?Z 7,082 [ 35,913 | 16.7 | 11.0

AN — 134,951 291,857 | 83.0 | 92.9 — 135,241 304,642 | 83.0 | 93.0

I BB 1 2% A [2,400 | 1,009 | 2,421 2.4 0.8]2,400| 1,029 | 2,469 2.4 0.8

% Z » o 5,900 428 2,525| 1.0| 0.8]5900 | 434| 2,560| 1.0| 0.8

* AN — | 1,437 4,946 | 3.4| 1.6 — | 1,463 | 5,029| 3.4| 1.6

= o BOE B B 6,000 | 1,421 8,526 | 3.4 2.7]6,000 | 1,465 | 8,790 | 3.5 2.7

= at — 142,089 (314,317 [100.0 | 100.0 — 42,435 (327,463 [100.0 {100.0

J& A B #s H —| 98.1| 985| — — — | 99.7| 100.2| — —

" B A @ = — |11 | 1037 —| — — | 1008 1044 —| -—

i IRk A EhE] — | 102.2| 1023 — — — | 101.8| 101.7| ~— —

T/l g Eh ] — | 1016 1016 — — — | 103.1| 103.1| — —
(%)

R — | 1008 1035 —| -— — 11008 1042 —| —

(TE) A FA54FE EE LAR R SRR, 5 F6 AR BE | IR B FOARE, 5 FnT4R B2 13 Y A AR E 4R
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4 M 5 B S o6 S JE S 7T JE
iR | £ 5k | FHEgE | MEake(%) | Bisk | & %k | RE%E | Makcke(%) | Bk | & %k | HEgE | Makk(%)
M| & | FMaki#AEl M| & | F | a%l#Es] ) [ & | Fr) & 2| E
2,000 | 3,025 6,050 7.0| 1.8]2,000] 2,969 5938 | 6.8| 1.7|2,000] 2,959 | 5918 6.7| 1.6
2,000 216 432| 05| o0.1]z000| 207| 454 05| o0.1]2000| 228 456| 05| 0.1
2,400 | 876 2,103 | 2.0| 0.6]2400| 931| 2,234 21| o0.6|2400| 967| 2,321 22| 06
3,700 79| 202| 02| oals,700|  7al| 24| o2 oalsoo| 77| 285| o0.2] o1

— | 4,196 | 8877 97| 26| —|4201| 8900| 96| 25| — 4231 898]| 96| 25
3,600 | 1,169 | 4,209 | 2.7| 1.2]3600| 1,213 4,367 | 28| 1.3]3,600]| 1,252 | 4,507 2.8 1.3
;5:3 4 18] 0.0] 0.0 2{% 4 18] 0.0 0.0 *% 4 18] 0.0 0.0
g 6 39| 0.0] 0.0 g; o1 154 0.0 0.0 g 30| 224 01| o1
fi 97,291 [274,570 | 63.3 | 80.8 fg 27,558 (283,433 | 63.3 | 81.0 li 27,961 294,006 | 63.4 | 81.4
g: 237| 88| 05| 0.3 g 920 835| 0.6 0.2 YEJE 246 908 | 0.6 0.3
% % %

m | 7,165 36,789 | 16.6 | 10.8| m | 7.215 37,398 | 16.6 | 10.7| g | 7192 [37,577 | 16.3 | 10.4

— 35,872 |316,511 | 83.2| 93.2]  — 36,233 |326,205 | 83.3 ] 93.3| — [36,685 [337,240 | 83.2] 93.3
2,400 | 1,061 | 2,546 | 2.5| 0.7]|2,400| 1,086 | 2,606 25| 0.7|2,400]| 1,120| 2,688 2.5| 0.7
5900 | 443 2,613 10| 085900 436| 2,572 1.0| 07590 443| 2,614 10| 07

—| 1,504 5159 35| 1.5 —|1522]| 5178 35| 1.5 —| 1563 5302] 35| 1.5
6,000 | 1,531 | 9,186 | 3.6| 2.7]6,000| 1,578 9,468 | 3.6| 2.7|6,000]| 1,636 | 9,816 | 3.7| 2.7

— 143,103 [339,733 [100.0 [100.0 | — 43,534 |349,751 [100.0 [100.0|  — [44,115 [361,338 | 100.0 |100.0

—| 984 986 —| —| —|1w01]| 1003 —| —| —1{1007]| 1000] -] —

— | ots| 1039 —| —| =110 1031 —| —| —1[1012| 1034 —| -

— | 1028 1026 —| —| —1|1o12]| 100a| —| —| —1[1027| 1024 -] -

— 1045 1045 —| —| —1l1031]| 1031 —| —| —1[1037| 1037] —| —

— | 1ote| 1037 —| =1 —1|110]| 1029 —| —| —1[1013] 1033] —| —
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(2) EREXERAM GRERKS)

4 3 S 4
S 5 Bl | & % | g | Makte(o) | Bk | & | fREgE | fERktt(%)
M & | (F[EHE#AEE] FD | & | (FR) | &% |#E
B BL == |3,100 0 0o 0.0 0.0]3,100 0 0 0.0 0.0
=% Bl 3,900 0 0| 0.0] 0.0]3,900 0 0 0.0 0.0
— | ® F 25 % |3,000 0 0 0.0 0.0]3,000 0 0 0.0 0.0
@ 50 % |2,000 0 o 0.0 0.0]2,000 0 0 0.0 0.0
i % # 75 % |1,000 0 0o 0.0 0.0]1,000 0 0 0.0 0.0
OB B R 4,600 4 18] 0.0 0.0]4,600 4 18] 0.0 0.0
N F — 4 18] 0.0 0.0 — 4 18 0.0 0.0
H BL == 5,500 1 6 0.0 0.0]5,500 1 6 0.0[ 0.0
o g # Bl % 16,900 4 28 0.0] 0.0]6,900 4 28 0.0| 0.0
ﬁ % F 25 % |5,200 0 o 0.0 0.0]5,200 0 0 0.0 0.0
A B AR 50 % [3,500 0 0o 0.0 0.0]3,500 0 0 0.0 0.0
;i; % # 75 % |1,800 0 o 0.0 0.0]1,800 0 0 0.0 0.0
M| = 3 B % 8,200 0 0o 0.0 0.0]8,200 0 0 0.0 0.0
N — 5 34 0.0] 0.0 — 5 34 0.0| 0.0
H B =% 7,200 11,389 | 82,001 | 33.7 | 28.5]7,200 | 9,803 | 70,582 | 28.7 | 23.5
| = #E Bl = 10,800 | 9,651 |104,231 | 28.5 | 36.2 10,800 [12,276 (132,581 | 36.0 | 44.1
ﬁ A 25 % |8,100 | 1,027 | 8,319 3.0 2.9]8,100 0 0 0.0 0.0
M| #®& # 50 % [5400] 121 653 | 0.4| 0.2]5,400 0 0 0.0 0.0
; % # 75 % |2,700 0 o 0.0 0.0]2,700 0 0 0.0 0.0
Al & 3 B % |12,900] 4,393 56,669 [ 13.0 | 19.7 12,900 | 4,693 | 60,540 | 13.8 | 20.1
N F — 126,581 |251,873 | 78.6 | 87.5 — 126,772 1263,703 | 78.5 | 87.7
B BL = |3,000 94 2821 0.3] 0.1]3,000 82 246 03] 0.1
Mo ogE #e B 3,800 89 338 03] 0.1]3,800| 104 395| 03] 0.1
2@ % FR 25 % 2,900 3 9| 0.0] 0.0]2,900 0 0 0.0 0.0
W] w50 % [1,900 0 o[ 0.0 0.0]1,900 0 ol 0.0 0.0
;i: % # 75 % |1,000 0 o 0.0 0.0]1,000 0 0 0.0 0.0
M| & & B % 4,500 46 207 | 0.1| 0.1]4,500 46 207 0.1] 0.1
AN E — | 232 83| 0.7] 0.3 —| 232 8481 0.7] 0.3
IH B = |4,000] 2,362| 9,448 | 7.0 3.3]4,000] 1,996 | 7,984 | 5.9 2.7
Ul ok #e B2 5,000 [ 2,204 | 11,020 | 6.5| 3.8]5,000 | 2,587 112,935 7.6 4.3
i@ % # 25 % |3,800 36 137 0.1 0.0]3,800 0 0 0.0 0.0
| # # 50 % [2,500 0 o 0.0 0.0]2,500 0 0 0.0 0.0
%% % # 75 % |1,300 1 1] 0.0] 0.0}1,300 0 0 0.0 0.0
| | B OB = |6,000| 2,415|14,490 | 7.1 | 5.1]6,000| 2,499 | 14,994 | 7.3| 5.0
N F — | 7,018 | 35,096 | 20.7 | 12.2 — | 7,082 (35,913 | 20.8 | 12.0
a 7 — 33,840 [287,857 |100.0 |100.0 — 134,095 300,516 {100.0 {100.0
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4 M 5 S fo6 0 JE s Ff 7 JE
Bl | & %% | e | #aktb(%) | Bisk | & %k | J8E%E | Haktb(%) | Bl | & %[ ResE | Makk(%)
M & | P [E#(#EE] T | & | (T |a&(@EE] FD | & | (TR | &% |[#HE
3,100 0 0 0.0] 0.0]3,100 0 o[ 0.0] 0.0]3,100 0 o[ 0.0 0.0
3,900 0 0 0.0] 0.0]3,900 0 o[ 0.0] 0.0]3,900 0 o[ 0.0 0.0
3,000 0 0 0.0] 0.0]3,000 0 0 0.0] 0.0]3,000 0 o[ 0.0 0.0
2,000 0 0 0.0] 0.0]2,000 0 o[ 0.0] 0.0]2,000 0 o[ 0.0 0.0
1,000 0 0 0.0] 0.0]1,000 0 o[ 0.0] 0.0]1,000 0 o[ 0.0 0.0
4,600 4 18| 0.0] 0.0]4,600 4 18 0.0] 0.0]4,600 4 18| 0.0| 0.0

— 4 18 0.0] 0.0 — 4 18 0.0] 0.0 — 4 18| 0.0| 0.0
5,500 3 17 0.0] 0.0]5,500 5 28| 0.0 0.0]5,500 6 331 0.0 0.0
6,900 2 14| 0.0] 0.0]6,900 4 28| 0.0 0.0]6,900 5 351 0.0 0.0
5,200 0 0 0.0] 0.0]5,200 0 0 0.0] 0.0]5,200 0 o[ 0.0 0.0
3,500 0 0 0.0] 0.0]3,500 0 o[ 0.0] 0.0]3,500 0 o[ 0.0 0.0
1,800 0 0o 0.0] 0.0]1,800 0 o[ 0.0] 0.0]1,800 0 o[ 0.0 0.0
8,200 1 8| 0.0] 0.0]8,200 12 98| 0.0 0.0]8,200 19 156 | 0.1 0.0

— 6 39| 0.0 0.0 — 21 154 0.0 0.0 — 30 224 0.1] 0.0
7,200 | 8,407 | 60,530 | 24.2 | 19.4 | 7,200 | 6,872 | 49,478 | 19.6 | 15.4 |7,200 | 5,394 | 38,837 | 15.2 | 11.7
10,800 13,748 |148,479 | 39.6 | 47.5 |10,800 | 15,402 [166,342 [ 44.0 | 51.7 |10,800 [16,942 |182,974 | 47.8 | 55.0
8,100 0 0 0.0] 0.0]8,100 0 o[ 0.0] 0.0]8,100 0 o[ 0.0 0.0
5,400 0 0 0.0] 0.0]5,400 0 o[ 0.0] 0.0]5,400 0 o[ 0.0 0.0
2,700 68 184 0.2 0.1]2,700 54 146 | 0.2 0.0]2,700 36 971 0.1 0.0
12,900 | 5,068 | 65,377 | 14.6 | 20.9 |12,900 | 5,230 | 67,467 [ 14.9 | 21.0 J12,900 | 5,589 | 72,098 | 15.8 | 21.7

— 127,291 (274,570 | 78.6 | 87.9 — 127,558 (283,433 | 78.7 | 88.1 — 127,961 (294,006 | 78.9 | 88.4
3,000 65 195 0.2 0.1]3,000 52 156 | 0.1 0.0]3,000 61 183 0.2 0.1
3,800 | 119 452 0.3 0.1]3,800| 118 448 | 0.3 0.1]3,800| 123 467 0.3 0.1
2,900 0 0 0.0] 0.0]2,900 0 o[ 0.0] 0.0]2,900 0 o[ 0.0 0.0
1,900 0 0 0.0] 0.0]1,900 0 o[ 0.0] 0.0]1,900 0 o[ 0.0 0.0
1,000 0 0 0.0] 0.0]1,000 1 1| 0.0] 0.0]1,000 6 6 00| 0.0
4,500 53 239 | 0.2 0.1]4,500 51 230 | 0.1 0.1]4,500 56 252 0.2] 0.1

— | 237 886 | 0.7] 0.3 — 222 835 | 0.6] 0.3 — | 246 908 | 0.7] 0.3
4,000 | 1,621 | 6,484 | 4.7| 2.1]4,000| 1,285| 5,140 | 3.7| 1.6]4,000| 962 3,848 2.7 1.2
5,000 | 2,950 [ 14,750 | 8.5| 4.7]5,000 | 3,322 | 16,610 | 9.5| 5.2]5,000| 3,613 ]18,065| 10.2| 5.3
3,800 0 0 0.0] 0.0]3,800 0 o[ 0.0] 0.0]3,800 0 of 0.0 0.0
2,500 0 0 0.0] 0.0]2,500 0 o[ 0.0] 0.0]2,500 0 of 0.0 0.0
1,300 2 31 00| 0.0]1,300 0 o[ 0.0] 0.0]1,300 8 10 00| 0.0
6,000 | 2,592 [ 15,552 | 7.5| 5.0]6,000 | 2,608 | 15,648 | 7.4| 4.9]6,000| 2,609 | 15,654 | 7.4 4.7

— | 7,165 [ 36,789 | 20.7 | 11.8 — | 7,215 (37,398 | 20.7| 11.6 — | 7,192 [ 37,577 | 20.3 | 11.3

— 134,703 (312,302 [100.0 {100.0 — 135,020 (321,838 [ 100.0 [100.0 — 135,433 (332,733 [ 100.0 [100.0
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Q) EEa#

a0 Mmoo 2 B 4 3 B
X AN
S B (et | g AL o | e |, 7
g | B50cc BLF 553 673 A 120 521 607 86
it | 50ce i 90ce LA T 39 41 A2 31 41 10
F [ 90cc #8 125¢cc LA T 162 125 37 183 128 55
il 3 = 5 — 20 14 6 19 7 12
H /N H 774 853 A 79 754 783 A 29
- i 231 175 56 239 208 31
% = iR 0 0 0 0 0 0
4 VY w3 H 0 0 0 0 0 0
Y #m R H B F 6,276 5,991 285 5,731 5,542 189
n MY 5 T 78 61 17 65 70 A5
g | WMim &% A % 1,180 1,158 22 1,097 1,033 64
71N 7t 7,765 7,385 380 7,132 6,853 279
I i3 (S 87 66 21 91 76 15
3;2
. z 0 h 35 25 10 45 38 7
* 71N 7t 122 91 31 136 114 22
g o BOH OBy 255 233 22 290 246 44
& #t 8,916 8,562 354 8,312 7,996 316
JAF B OB 96.5 97.5 — 97.4 91.8 —
" B B # & 94.3 91.2 — 91.8 92.8 —
i /N R OB HE 84.1 108.3 — 111.5 125.3 —
"N B 93.4 100.4 - 113.7 105.6 —
(%)
= G 94.3 92.2 — 93.2 93.4 —
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a4 4 B SERR 1 B B 4 f1 6 iy
RS AN RS N BN R A
520 634 AN 114 513 581 /A 68 516 534 A 18
33 27 6 34 24 10 39 30 9
178 148 30 182 129 53 175 144 31
19 17 2 14 19 A 5 15 12 3
750 826 AN 76 743 753 A 10 745 720 25
228 207 21 223 176 47 242 206 36
0 0 0 0 0 0 0 0 0
4 4 0 11 2 9 8 9 A1
6,095 5,583 512 5,998 5,746 252 6,138 5,746 392
105 98 7 57 77 A 20 88 68 20
1,203 1,130 73 1,157 1,115 42 1,140 1,164 AN 24
7,635 7,022 613 7,446 7,116 330 7,616 7,193 423
109 76 33 93 70 23 97 62 35
37 30 7 24 31 AN T 41 28 13
146 106 40 117 101 16 138 90 48
285 223 62 238 205 33 279 234 45
8,816 8,177 639 8,544 8,175 369 8,778 8,237 541
99.5 105.5 — 99.1 91.2 — 100.3 95.6 —
107.1 102.5 — 97.5 101.3 — 102.3 101.1 —
107.4 93.0 — 80.1 95.3 — 117.9 89.1 —
98.3 90.7 — 83.5 91.9 — 117.2 114.1 —
106.1 102.3 — 96.9 100.0 — 102.7 100.8 —
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